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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in

ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs /illustrations, wherever required, may be drawn/given in the space provided for answering
the question itself. )

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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SECTION A

Q1. Fr=frRas T Ty &7 I T 150 reat | S :

Answer the following questions in about 150 words each : 10x5<5

y/ wIisy o ST e it o1 wHe SuTd & aed €, dt Ao givshion |, ﬁFFﬁaﬁr
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Show that when prices and income-increase-i he same pI‘ODOI‘tmn
there will be no change i quantlty demanded or a commodit

Marshallion approach. — a\ueF Gl 10

/(bV IS Tk &t AT Y AT T | 1S I5F GTHI=Id: FTTcHe GAT aTeil 347 araT & 2

Interpret the slope of the IS curve. Why is IS curve normally ww
sloped ? 10
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What is classical dichotomy ? Is it the same as neutrality of money ?
——— — e
Explain. 10
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What are the major reasons for market failure ? Explain the role of the

government in this context. -+ - 10
| (e m%mﬁmwﬁv%ﬁmwévwmgﬁzﬁw%m
i HaeH-aT d forg g fr=r 2 2
| What are the determinants of velocity of money in Fisher’s equation ?
’ How does it differ from the Cambridge version of velocity of money ? 10

Q2. (a) T 3T FFATATTT TS T ITANT F7d §C 1] 31 (briarch) F 0 Fry aeq &
fore smeifer At a3 o= i | wamwﬁmmmwrﬁm
8 ? GHEST |
Derive Marshallian demand curve for an inferior good in a
two-commodity framework by using in ncome and substitution effects. Is

—

this demand curve always negatively sloped ? Explain. 15+5=20
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Consider a firm in a Duopoly market with product differentiation in
which, Duopolist I faces a demand function given by :

The cost function of Duopolist I i R 2e

Fqﬂ*'; 700 - ‘qu‘

- . Assume that Duopolist II has %rd sharﬂ- fthe w!o!e market.

JFind out optimél price, output and profit for Duopolist I. Also find out
the output of Duopolist IL. ., 15

(c) ﬁaﬁa&ﬁﬁﬂmw%?sﬂmﬁ%ﬁqaﬁrﬁwﬁw%aﬁﬁmm
~ What is Scitovsky Paradox ? Explain it in the context of Kaldor-Hicks

compeErsre_l_t_irgn test. 5+10=15
Q3. T SITeT i AR HIfre | gerisy o Trstepreter fifa LM 936 % afasr sor § ot

TE & gt @ Stefes Dfsen Aife Feater amm 3§ o o & weht 7 | e wwor
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LN Define hquldlty E Show that fiscal policy is fully eﬁ‘ectwe in the
)(' honzontal part while the monetary policy is fully effective in the vertlcal

part of the LM curve. Illustrate your answer graphically with economic
asons. - 5+15=20
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How does the loanable fund theory become superior to the classical
- theory of interest ? 15
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“The failure of classical full employment equilibrium paved the way for
Keynes’ theory of underemployment equilibrium.” Discuss critically. 15

() TSI T G EEE = % TET Y saren hifs, e 38 gk U S
Wy | faaaifie foram ST & |
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6)) Explain the effects of public spending on national income, if it is
financed, through government borrowings. *
(ii)) Why do some believe that it is important to restrict t the growth of

pubhc expenditure ? Suggest how pubhc expenchture mbe
ool el
. 10+(5+5)=20

controlled.
(3) Fﬁﬁqﬁamaﬁmaﬁmﬁwwwf&qm{%) 64" ¢ «/}-
Qg =~ 500P + 5000 Q=0 > D == gwt.fsf"e'
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Suppose that the market demand and supply functions are given ) f\v“

by : - "3_3
Q4 = — 500P + 5000 v 2

~

and Q = 400P — 400
Find out the effects of imposition of specific sales of 18% on

equilibrium price and quantity. J,
\D A e ualee o
e T -



M a monopoly market, the demand and cost curves are given by :
- P =200 - 8q

and c = 25 + 10q
Suppose that the government imposes a tax of T 10 per unit. How

will equilibrium price and quantity be affected ? 8+7=15
Pt = Ity be altect

y/gmwﬁmﬁﬁqﬁmﬁuﬁﬁﬁﬁéwaﬁﬁmlgﬂw%mﬁ
IS foh reforereen i S rarwer g1 s A 34 Frifm ot 2

e : ; 5 K
/Beﬁne ney multiplier and discuss its determinants. Explain in terms

of money multipliyy, how the banking system of an economy can control
money supply. 15
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SECTION B

fAreferRas T T97 &1 I T 150 YTeat § e
Answer the following questions in about 150 words each : 10x5=50

y :
i
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Define offer curve and explain its slope. 10
Ifer curv

J-as U9 T @ 2 39 A g wusns |

What is J-curve effect ? Explain it graphically. kly Lentis 10
Tonl & Torade ajonnes Mantlall « Lowrert

TRl fagid admsu | 38 g # fora=is farammy &Y samer Fifsie |

State Heckscher-Ohlin theory. Explain the Leontief Paradox in this
-her-Unlin theo 1
context. s 10

e & wafg dea o arp-aw wme & At i fufaw |
Write down the implications of knife-edge problem in Harrod’s model of

B ———————

growth. d 10
— 3 i
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(a).

(b)

(c)

Write down the major limitations of HDI developed by the UNDP. 10

ST Tqed ey § Hr-Seh (2R) & I TTE, HEUIe ST, IO S,
TSIET TS W& faawer swrer sht s i |

. Explain the price effect; protective effect, consumption effect, revenue

effect and distzibutive effect of tariff in partial equilibrium framework. 20
SR G 3 AR foge &Y sraamonsii #i afonfyg IS | = 9 (3
scifeh) & S~ @ 3 e o STeht firehT ht AT ST |

Define the concepts of trade creation and trade diversion. Explain their
5+10=15

role in the context of gains from trade bloc.

e s e e e R a0 3 st o ot e, T s
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Do you think that perfect capital mobility under ﬁxgq_ﬁei_:‘g_}_lgg.gg_ﬁrate
improves the effectiveness of fiscal and monetary policies ? Explain.
oves the etiectiveness of lisca.
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Analyse critically the role of human capital and Research and

Development (R&D) expenditure on economic growth in the framework

of endogenous growth model. 20
W G Cor -
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“Increasing role of multinationals has reduced the significance of foreign
aid during post-World Trade Organization (WTO) regime.” Do you agree
! with this statement ? EJ;plain. 15
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Define the concept of natural growth in Harrod’s model. What are the
implications of deviation of actual growth from natural growth ? 5+10=15

Q8. (a) oM WRNET # fiva =R WS (WTO) i sfirr i =men hifse | foa
(TRIMs) 3R f& (TRIPs) o 701 37T Q81 bt faaramn ifsre |

Explain the role of World Trade Organization (WTO) in the present
context. Discuss the merits and demerits of TRIMs and TRIPs. 10+10=20

(b) T AT A & o MRk Helf Tl WO forehmr Uh-g o foodir & 2 31 STt
ATIHTA 3&RT |
Do you think that economic growth and sustainable development are
contrary to each other ? Justify your answer. 15

(¢) IR =TT & Fgd Hew » Hel # fashra Aok # Fraem i viftrr i =men
Hifsr |

Explain the role of planning in the development process in the context of
increasing significance of market economy. 15
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